<hthnplipwjhG Jupyuynpiw6 htin Juupwd pGnhwlnp Swuubp

{wjnh hwiwp Ydwp, wyn pymy quplughG qtlnyg

3,000 << npwyd

‘Unnuwpuljw qudbpugmyd (JtpwGnpngnid-
wnnijwgwnp)

15,000 << nnuv (qpuuy), 20.000 << nnud (wendwdwnp L
qpuy)

GunuumpujhG JdwnGbp (JtpwGnpngnid-
wnnywdwnp)

26,400 << npuvi (qpuuy) -72,000 << npud (wemyudwnp L
qpuy)

Qnyph qGwhwuniwib Jdwn 18,000 << puut

Juwnyh dLbwhbpuidwb Yswn, wyn pinud

hwijwpwGwlwl owhiutin Juwpyh gouiwph 1%, puwg ns wwlwu 75,000 << gpud
Uduwlwl qupdu]Gwup 1,700 << gpnud

Qnyph wywhmjqpnipjmb Qmyph wndbph 0.15%

Qdpujun yjunwhwnpitphg yupuembtph
wwwhnjwqpnipjnll

Jwnyh gouswiph 0.15%




